AllWrite Consensus
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Sit with your Revision Twin opposite 2 others at a table.

The purposes of this structure is to find a ‘consensus’ answer to each question – something you can all agree to or at least all live with.

You will get 3 minutes to Round Robin your views to establish a consensus answer, then a further 3-4 minutes to write you answers on the sheet. This process will be repeated until the task sheet is complete. Then swap and mark with revision twin.
Questions
1. How are the old stereotyped in modern society and what impact do you think that this may have on their life chances?
2. Give 3 ways in which the old may be discriminated against by wider society?

3. How are the young stereotyped in modern society and what impact do you think that this may have on their life chances?

4. Give 3 ways in which the young may be discriminated against by wider society?

5. Britain has an ‘ageing population’. What does this mean and why is it seen as a problem?

6. Give an example of a recent social policies ‘justified’ by the ageing population.

7. Which sociological perspective might see the transition through the various life stages as functionally important and explain how this might be explained?

8. Which sociological perspective might see the marginalisation of the young and the old as serving the needs of capitalism and explain how this might work?

